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Name: __________________________________
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Which ordered pair is a solution to the system of equations [image: image1.png]x+3
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	1)
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How many solutions are there for the following system of equations?

[image: image7.png]&= 5x43

y=x-6




	1)
	1

	2)
	2

	3)
	3

	4)
	0
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The graphs of the equations [image: image8.png]Fadx-1
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 are drawn on the same set of axes.  At which point do the graphs intersect?
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Which ordered pair is in the solution set of the system of equations [image: image14.png]


 and [image: image15.png]y=x'+5x+6
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What is the solution set of the system of equations [image: image20.png]X+y
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Which values of x are in the solution set of the following system of equations?
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Which ordered pair is a solution of the system of equations [image: image31.png]
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Solve the following system of equations algebraically for all values of x and y.

[image: image37.png]o+ 2x-8

41
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The accompanying diagram shows the graphs of a linear equation and a quadratic equation.

[image: image38.png]



How many solutions are there to this system of equations?

	1)
	1

	2)
	2

	3)
	3

	4)
	0
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Solve the following system of equations algebraically:  [image: image39.png]
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Solve the following system of equations algebraically.

[image: image40.png]+dx-2

41
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Solve the following system of equations algebraically:  [image: image41.png]x-6x49
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Which ordered pair is a solution of the system of equations shown in the graph below?

[image: image42.png]>

> x




	1)
	[image: image43.png]




	2)
	[image: image44.png]




	3)
	[image: image45.png]




	4)
	[image: image46.png]






14
Two equations were graphed on the set of axes below.

[image: image47.png]



Which point is a solution of the system of equations shown on the graph?

	1)
	[image: image48.png]
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Which graph could be used to find the solution of the system of equations [image: image52.png]2x+ 6
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Which graph can be used to find the solution of the following system of equations?

[image: image58.png]e xe3
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On the set of axes below, solve the following system of equations graphically and state the coordinates of all points in the solution set.

[image: image63.png]2 rdx-5
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Solve the following system of equations algebraically or graphically for x and y:

[image: image65.png]x-dxe3

y=x-1
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On the set of axes below, solve the following system of equations graphically for all values of x and y.  State the coordinates of all solutions.

[image: image67.png]2 rdx-5

y=2143
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Solve the following system of equations algebraically or graphically for x and y:

[image: image69.png]2 rdxab
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Solve the following system of equations:

[image: image71.png]2 rdxel

5x+3





[The use of the grid is optional.]
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Solve the following system of equations algebraically or graphically for x and y:
[image: image73.png]ex-1

x4+ 5





[image: image74.png]




23
On the set of axes below, solve the following system of equations graphically for all values of x and y.

[image: image75.png]y=-21+4
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On the set of axes below, solve the following system of equations graphically and state the coordinates of all points in the solution set.

[image: image77.png]xey="7
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On the set of axes below, solve the following system of equations graphically for all values of x and y.  State the coordinates of all solutions.

[image: image79.png]yeir=1
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3
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On the set of axes below, graph the following system of equations.  Using the graph, determine and state all solutions of the system of equations.

[image: image81.png]
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Solve the following systems of equations graphically, on the set of axes below, and state the coordinates of the point(s) in the solution set.

[image: image83.png]x-6x+5

Zx+y=5
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On the set of axes below, solve the following system of equations graphically for all values of x and y.

[image: image85.png]2 -bxel
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On the set of axes below, graph the following system of equations.

[image: image87.png]y+2r=x"+4
4

.




Using the graph, determine and state the coordinates of all points in the solution set for the system of equations.

[image: image88.png]
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A rocket is launched from the ground and follows a parabolic path represented by the equation [image: image89.png]


.  At the same time, a flare is launched from a height of 10 feet and follows a straight path represented by the equation [image: image90.png]


.  Using the accompanying set of axes, graph the equations that represent the paths of the rocket and the flare, and find the coordinates of the point or points where the paths intersect.
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, the solutions are [image: image94.png]
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